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Math 107 Ch. 15 Group Project Names: k f’:f
Dusty Wilson

Show any work required to answer each question. Do your work on this sheet.

V) 1. Anenveiope confains 16 colored blocks, eight red and eight yeliow, and all the same size and shape. One block
is drawn and the color recorded. The block is then replaced and a second block is drawn and the color

recorded. The second block is then replaced and a third block is drawn and its color recorded.
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a) List the sample space for this experiment.
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le lett b) List the probability for each possible number of red blocks (use the sample space).
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| & g)’ ¢) What is the probability of drawing exactly two yellow blocks?
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d) Whalis 1he pmbabﬂny of not drawmg exactly two yellnw blOCkS'7'
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2 Your club consists of B members. .One will be chosen to be pms:dent ane vice—president and one secretary—
treasurer. How many different possibilities are there to fill these three ofﬁcm?
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@ 3. California Heense plates
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a) How many possible combinations (1 letter followed by 3 numbers fo]lowedéy 3 letters) are there for
California state license plates?

Le 1o don10, 260620 = Y 5—,{3"3 ?]éfﬁcm f)}d'ft'f-as

”"E""-ﬁ'

w

b) How many possible combinations are there if no letter or number is repeated on the CA license plate?
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4. What ig the probability of g@u.mg an “Aces full of Kings™ full-house in S-c:ard\%ud poker? (3 aces and 2 kings)
{(Give your answer as a reduced fraction and a decimal rounded to 8 places.)
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5. Alex, Beth, Charlene, and Dusty are nearing the end of a rouging game of Settlers of Catan (and play in

alphabetical order). One of them will win in this last round — but the victor depends upon the outcome of the

dice where on each tum the player rolls two dice and considers the sum. The goal is to determine the .
probability that each one will win, but we will do so in stages: i PrES S e .Y """E
* Alexwillwinifherollsan8 ora 9

= Beth will win if she rolls an 8 (but Alex did not win on his turn)

s  Charlene will win if she rolls a 6 or less and Beth did not roll a 7 (and Alex and Beth did not win)

»  Dusty will win if he gets a turm

2) Find Pr(Alex wins), = >+ .24
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1) Find Pr(Beth wins). Hint: What is the probability that Alex did not win?
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c.) Find Pr{Charlene wins).

1.) First find the probability that Alex and Beth do not win, but Charlene has a winning roll.
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ii.) Then find the probability that Alex does not win, Beth rolls a seven, and Charlene has a winning roll.
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iii.) Finally, find the probability that Charlene wins.
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d.) Find Pr(Dusty wins).
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